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= 2011.6ZH(A) 2010.6Z(B) Z (A-B)
& Xt 2l 4,971 5,138 -167
= Sh A 4,293 4,672 -379
= 07 A 3,886 4,234 -348
=l 2 Xt = 310 160 150
N 7| N = 236 186 50
= = - 2
A = 07 £ H|AHEH b AHEH
ol | 2 == 47 49 -2
% ch Xt - 25,561 27,930 -2,369
2. Mg
A2l %)
- o 2011.62 2010.6% 2H(A-B)
(A) T AH| (B) A
& of = 396 7.97 222 4.47 174
T = A 725 14.58 598 12.03 127
CH = = 3,886 78.17 4,234 85.17 (348)
=2 =
= Xt 2
i Xt A 44 0.89 46 0.93 (2)
7 At =l 154 3.10 249 5.01 (95)
CH 2 £ (2) (234) (4.71) (211) (4.24) (23)
N A 4,971 100.00 5,138 103.36 (167)
of T = 4,293 86.36 4,672 93.99 (379)
s [& = = 135 2.72 60 1.21 75
= H L
7 5 i 307 6.18 221 4.45 86
5 2 A 4,735 95.25 4,953 99.64 (218)
g o4 X 2 = 310 6.24 160 3.22 150
N = 0 0.00 0 0.00 0
of g = -73 (1.47) 25 0.50 (98)
= = S -1 (0.02) 0 0.00 (1)
& A 236 4.75 185 3.72 51
| 4,971 100.00 5,138 103.36 (167)




T =2 2011.6ZHA) 2010.62H(B) (A-B)
| odoiz~ol 475 444 31
1. O| X}z=2! 443 398 45
2. 5259 11 43 (32)
3. 7|EtH A= 21 3 18
I, Aedd| 2(-) 563 486 77
1. 0| x| 224 239 (15)
2. 25848 48 16 32
3. 7|Etd | 243 183 60
4. mhojju| F 2e2|d| 48 48 0
. FHoled (88) (42) (46)
Vel £9 0 9 (9)
V. gL H|E (-) 4 0 4
VI, Zato|<l (92) (33) (59)
Vil. Eol< 0 0 0
Vil. SE&AI(-) 0 0 0
IX. BHoIM XM z=0] 2 (& 4!) (92) (33) (59)
X . HolNH]2(-) 6 (1) 7
X | . 70| (&4 (98) (32) (66)
4. 7|E}
A2 %)
" = 2011.62H(A) 2010.62Z(B) (A-B)
I M o s of A H 8 12.50 12.98 (0.48)
7= XpArof| CH B RF7| RFEH| S
= = A H| =1 162.66 105.41 57.25
off CH H = 90.53 90.62 (0.09)
= Xt At o] ol = (1.92) (0.68) (1.24)
XA 71 X =2 o o g (38.87) (15.07) (23.80)
A 0 A 2 & 2 o 1) 0.00 0.00 0.00
A0 Al 20 5 Y S 2 0.00 0.00 0.00
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